
LO – To solve word problems involving money (A) 

 

 

 

 

 

 

     Grapes                             Pineapples                        Bananas 

  £3.48 per kg                     £1.87 each                       20p each 

 

 

(1) How many bananas could you buy for £1? 

(2) How much would 5 pineapples cost? (Use the Grid Method). 

(3) How much would 3kg of grapes and 1 pineapple cost?    

     How much change would you get from £20? 

(4) How much would 2kg of grapes and 3 bananas cost? 

     How much change would you get from £20? 

(5) How much would half a kilogram of grapes cost? 

(6) How many pineapples could you buy for £5? 

(7) How many kg of grapes could you buy for £10? 
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LO – To solve word problems involving money (B) 

 

 

 

 

 

 

     Grapes                             Pineapples                        Bananas 

  £2.50 per kg                     £1.23 each                       20p each 

 

 

(1) How many bananas could you buy for £1? 

(2) How much would 5 pineapples cost? (Use the Grid Method). 

(3) How much would 2kg of grapes and 1 pineapple cost?    

     How much change would you get from £10? 

(4) How much would 2kg of grapes and 1 banana cost? 

     How much change would you get from £10? 

(5) You have £10 to spend. What fruit would you buy? 
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LO – To solve word problems involving money (C) 

 

 

 

 

 

 

     Grapes                             Pineapples                        Bananas 

  £1.43 per kg                     £1.23 each                       20p each 

 

 

(1) How many bananas could you buy for £1? 

(2) How much would 2 pineapples cost? 

(3) How much would 2kg of grapes cost?    

(4) How much would 2 pineapples cost? 

(5) How much would 1 pineapple and 1 banana cost?  

     (Remember to put the pence in the pence column.) 

(6) You have £2 to spend. What fruit would you buy? 

 

 

M. Watson 


